
Manual Revision #: 24.2.25EK

GAF Control Sales
Phone: 1300 659 489
Email: info@colemanbbqs.com.au
If calling from overseas, please call: 
+61 3 8368 1800

Hours of operation:
Melbourne time
9am - 5pm Monday to Friday
Closed Saturday and Sunday

Address:
24a Park West Drive
Derrimut Victoria Australia 3026

Coleman Corner Module 
Gloss: REVCOGL6 (A11110) 
Matte: REVCOMA6 (A11115) 

Assembly Manual



2

1

32

4

Gloss: REVCOGL5/A11102 Part List
Item No. Description Image Qty. Part No.

1 Corner Cabinet 1 A111-0028-01

2 Corner Cabinet 
Brace A 1 A111-0029-01

3 Corner Cabinet 
Brace B 1 A111-0030-01

4 Front Panel 1 A111-0031-01



3

Matte: REVCOMA5/A11106 Part List
Item No. Description Image Qty. Part No.

1 Corner Cabinet 1 A111-0028-01

2 Corner Cabinet 
Brace A 1 A111-0029-02

3 Corner Cabinet 
Brace B 1 A111-0030-02

4 Front Panel 1 A111-0031-02



4

Total Hardware Pack(A111-B002-01)
Item No. Description Image Qty. Part No.

A NO.10-24UNC x13 Screw 22 20124-10013-250

B 1/4"-20UNCx13 Screw 35 20120-13013-250

F Wheel Lock Pin 1 G350-0026-9000

G 6.5 washer 28 G369-0031-9000

H 1/4"-20UNCx16 Screw 15 20120-13016-250

I NUT 14 31220-13000-250

J NO.10-24UNC x16 Screw 2 20124-10016-250



5

For A11102 and A11106 Hardware Pack
Item No. Description Image Qty. Part No.

B 1/4"-20UNCx13 Screw 8 20120-13013-250

H 1/4"X16 Screw 15 20120-13016-250

G 6.5 washer 9 G369-0031-9000

I NUT 3 31220-13000-250



6

1

2

6H

X 2



7

2

3

6H

X 2



8

3

4

6H

X 5



9

4 6B

X 8



10

5 6 6G H I

X 9 X 6 X 3



11

6 6G H I

X 12 X 6 X 6

6

Only For Cabinet and Cabinet for Fridge connetion.




